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Range(UITH): It refers to the

difference between the largest and smallest
values in a dataset. It is a measure of the
spread or dispersion of the data.

R STrie # JIH g3 3R T8 Bl
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Q: What is the range of the following data set: |
{2.5,3.2,5.1,7.8,9.5,12.3, 15.6}

AFafai@a ger de o1 IS &A1 82
{2.5, 3.2, 5.1, 7.8, 9.5, 12.3, 15.6}

RRB NTPC 2016
a) 13.1

mm b) 12.4

c)12.2
d) 13.2
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Q: If the range of a data set is 0, what can be said
about the data set?

39R TUch 3T HC &I I O &, dl 3T 8¢ &
dR H FIT hol oIl Hobhdl %? RRB NTPC

a) All values are the same / G AT AT ©

b) There is only one value in the data set / ser 4 A
c) There are two values in the data set/ SeT 9¢ & al
d) The data set cannot have a range of 0/ 3T T ol

Hehdl

01:00

el TP AT &
A T &
ST O &% &
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Mode(elgoich): Mode is the most frequently
occurring value in the list.

Igeld, ST 6 Fa ’fAF IR 3 arel HEAT ¥ |

Where,

| = lower limit of the modal class

h = size of the class interval
f1 = frequency of the modal class
fO = frequency of the class preceding the modal class

f2 = frequency of the class succeeding the modal class



1,5,6,1,2,5,3,2and 3?

Aeafaf@ad g=am3ii g, 5, 1, 5, 6, 1, 2, 5, 3, 2 3 3 &I
T T TEeTh FT &2

01:00 o
b) 1

c)5

d) 2




find the value of k?

gfe AFafaf@d 3iest &1 dagered 15 &, @
kT AT AT AT |

15, 7, 14, (2k-1), 15, 11, 18, 11, 14, 16
a)5

01:00 )

c) 7
d) 8
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Q : If mode of the following data is 9, then wha
is the value of k? .
gfc, AeAei@d Mgt T dgeleh 9 &, dl x

T AT FIT &2

7,12, 8,14, (x-2), 11, 12, x, 15, (x-2), 9

a)l3

01:00 i

c)15
d)10
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Median (HTTEIH):

The Median is the middle number when data is arranged in
ascending order.

S 3IPal Bl IR el H ATEAd fhar Jar & ar
FIfCasT 7T @& o B

1. If there are an odd number of values in the dataset:
Median = Middle value

2. If there are an even number of values in the dataset:
Median = (Value at (n/2)th position + Value at ((n/2) + 1)th
position) / 2



Tt

Median = [ + ( 2~ ¢

Where

| is the lower limit of the median class
n is the number of observations

fis the frequency of the median class
H is the class size

Cf is the cumulative frequency of the class preceding the median

class.
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Q: What is the median of the following
distribution:

e Taiaa 3Thsl b ATICIHT AT & ?

28, 69, 39,51, 41,34, 61,57/, 40, 32, 53, 47,

56, 23, 65, 35
a)42
01:00 )0
c)44

d)44.5
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Q: If the median of the following data is 12,
then find the value of k.

e AFafaf@d 3iepsl &1 ACIH 12 §,
al kT AT FIT BIM?

4,20, 14, 7, 8, 10, (k-3), 15, 18
a)l0

01:00 s

c)5
d)12
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Q: The numbers 30, 38, 42, 49, 3x+3, 4x+1, 92, 98,
106, and 113 are written in ascending order and
their median is 65. The value of x is?

HEIT 30, 38, 42, 49, 3x+3, 4x+1, 92, 98, 106
3R 113 A IR A A for@r =37 & 3R
SADT ATTTIDRT 65 &1 x Pl A ©2

a)22

01:00 e

c)24
d)28
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Q: If a, b and c are the median, mode, and range, respectively of
the data: 8, 5,4, 3,2,7,3,10,9, 17, 12, 3, 8, 4, then what is the
value of (2a+4b-c)?

IfE a, b 3 c HAA: 3] HT ATCIHI, dgeh I W -
8,5 4,3,2,7,3,10, 9, 17, 12, 3, 8, 4, dl (2a+4b-c) I

AT AT ©7?
a) 27
01:00 ):
c) 15

d) 12
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The median of a set of 11 distinct observations is 73.2. if
each of the largest five observations of the set is increased
m by 3, then the median of the new set?

11 {fe=T USTUN & Th HHaY &I AN 73.2 &l
Ife H=IT & Fad IS Ul USTUN H H YcIch ol
39 del a1 e, af a0 §HaT hl AT ]

EIT? | SSC CGL 2022

A) Is 3 times that of the original set
B) Is increased by 3

C) Remains the same as that of the original set
D) Is decreased by 3
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Mean(HATET) : Mean is the

average of all the numbers in the
given data.

ATeg feu 9w a1 & I =A@

: _ (U&TuTT T )
T —— (T&TOTT T ol TEAT)
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Q: Find the Mean of 443,437,451,429,456 an
430.

443,437,451,429,456 31X 430 &1 AL

ATd AT
a)427
01:00 )02
c)441

d)458
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Q: The Mean of 47 numbers is 231 . If each |
number is multiplied by 5 and divided by 11,
the Mean of the new set of numbers is:

47 GEIATIT BT ALY 231 & I UAF
&A1 Bl 5 U fhar ST 3R 11 @
faaiaa fopam ST, T 9&I131 & &0 8

BT ATET &
a)105
01:00 b)107.5
c)115

d)121
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Q: The mean of the sample data is 60 and the |
median is 48. Find the mode of this

Ueh ST 37Tehs! &l HICT 60 3 HTTHDT 48
| 38 deel &l "geleh Al hiiord?

SSC CGL 2022 2)36
b)18

01:00 o

d)48
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Empirical relationship between mean median and mode

Mean — Mode = 3 (Mean — Median)
Or
Mode = 3 Median — 2 Mean
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Q: A football team keeps records of the number of
m goals it scores per match during a season. Find the
mean number of goals per match.

Ueh Pediel S Teh Hiolel & aNIl Uid HI TR fhu 1w
el P F&IT &1 Repis @dr &1 afad T el dhr ATeT

JEIT J1d HiSw?
No. of Goals | Frequency 3 ) 1.25
0 8
1 ¥ b)1.825
2 2 C)1.45
3 3 d)2.5
4 5
5 2
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No. of Goals | Frequency

0 8

10

12
3
5
2

N|HP WIN M=
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Q: The table below gives data on the heights, in ¢
of 51 children. ’ ’ ‘
A= & 7S arferer # 51 a<at H TS F A
ar 7% T

(a)Estimate the mean
(b)Estimate the median
(c)Find the modal class
(d)Find the mode
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Class Interval

140 < h <150
150 < h <160
160 < h <170
170 < h < 180

Mid-point  Frequency  Mid-point x Frequency

6
16
21

8

Totals 51




two decimal places)?

feU 1T dee T gD FAT Dol ( @l GAH
AT dh qulifehc ) SSC CGL 2022

INR L
B) 28.33
C) 30.33
D) 35.25
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Variance (Td=RUT) : Variance is the measure of
how data points differ from the mean.

msﬁmwm%ﬁswﬁgm‘wﬁaﬁﬁﬁm
|

The formula for variance is:

62 = X (Xi - p)2 / N
where:

e 02 represents the variance

e 2 denotes the sum of

e Xi represents each individual data point

e U represents the mean or average value of the
data points

e N represents the total number of data points
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Mean deviation (3-ﬁHd faereT)

The mean deviation is defined as a statistical measure that is
used to calculate the average deviation from the mean value
of the given data set.

ATEY Tl &l Uh ATRIDIT AT & &7 A gRANT fopar Srar
& TS geT 3UA9T feU 91T 32T A¢ & Aaa AT I 3iaa ATada &
T b forw fopam Srar &

Mean Deviation = 2 X — U]

N
Here,
2 represents the addition of values
X represents each value in the data set
L represents the mean of the data set
N represents the number of data values
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STEPS to find Mean deviation (3-ﬁHd CERGD

1.Find the mean value for the given data values.

feu 1T 2er A & T AT AT A9 AT

2.Now find Difference of the mean value from each of the data

values given

39 feu T gAS ST AT dl AT AT F AR AT B
3.Now find the mean of those values obtained in step2.

3 TWOT 2 H Ut 3 ATAT hl AT ATT DITAT|



$SC 2023 +CGL+CHSL+CPO /

Variance (Td=RUT) : Variance is the measure
of how data points differ from the mean.

feeRUT 56 a1 @1 AT § {6 e foig Ameg & &4
o g &

The formula for variance is:

DRRXIL & 1) )/ N

0-2
where:

e 02 represents the variance

e X denotes the sum of

e Xi represents each individual data point

e U represents the mean or average value of the
data points

e N represents the total number of data points
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STEPS to find Variance

1. Subtract the mean from each data point,
2. Square the difference,
3. Add up all the squared differences,

4. Divide by the total number of data points.
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Standard deviation (A& fdTeid) : Standard
deviation 1s the positive square root of
the variance.

L Crion
| Brfary

AAdh e [aaRor &1 9atcaAs i &

0 =/ (Xi - p)2 /N

where:

e 0 represents the Standard deviation

e > denotes the sum of

e Xi represents each individual data point

e U represents the mean or average value of the
data points

e N represents the total number of data points



